
5077B/5179B RENAULT PREMIUM / MIDLUM / KERAX / 
D 2,1M / D 2,3M / VOLVO FE 2007‐ / VOLVO FL 2007‐
FITTING INSTRUCTIONS

Address Telephone Fax
Tehtaankatu 21 mail@vepro.fi
11710  RIIHIMÄKI www.vepro.fi
FINLAND                                 + 358 19 724 00                            + 358 19 720 765 FI09001798

AE5179B for models AE5179 and AE5180, vehicles with front
view mirror in the center of the cabin.

AE5077B for models AE5077 and AE5170, vehicles without
front view mirror in the center of the cabin.



Address Telephone Fax
Tehtaankatu 21 mail@vepro.fi
11710  RIIHIMÄKI www.vepro.fi
FINLAND                                           + 358 19 724 00                              + 358 19 720 765 FI09001798

5077B/5179B RENAULT PREMIUM/MIDLUM/D 2,1M/
D 2,3M/ VOLVO FE 2007‐ /VOLVO FL 2007‐
FITTING INSTRUCTIONS

1203 Cover collar 12 pcs 1202 Cover hat 12 pcs
1003 Nylok nut M6 12 pcs 1211 Rubber washer 6mm 12 pcs 
1009 Screw M6x30mm   12 pcs 1204 Gasket 10 pcs
1012 Washer 6x22mm 12 pcs 1033 Washer 8x25mm  10 pcs
1015 Hexacon screw M8x20 10 pcs 1206 Rivet nut M8 10 pcs
1212 Rubber washer 3mm 12 pcs


